Sruba M12x110-8.8 ; Bolt

Podkt. okr. pow. 13 Plain Washer D Pkt 2 G E

Nakretka M12; Nut
Podkt. okr. 13 Plain Washer

Podkt. sprez.12,2 ; Spring Washer

E F A Pkt3

Nakretka M12; Nut
Podkt. sprez.12,2 ; Spring Washer
Podkt. okr. 13, Plain Washer

Pkt. 1

Sruba M12x40-8.8; Bolt

Sruba M12x40-8.8, Bolt
Podkt. sprez.12,2 ; Spring Washer
Podkt. okr. pow. 13; Plain Washer

Nakretka M12 ; Nut
Podkt. sprez.12,2 ; Spring Washer
Podkt. okr. 13 ; Plain Washer /

F

Sruba M12x90-8.8; Bolt
Podkt. okr. pow. 13; Plain Washer

Sruba M12x70-8.8; Bolt

Nakretka M12, Nut
Podkt. sprez.12,2 ; Spring Washer
Podkt. okr. 13, Plain Washer

Nr katalogowy ~ Marka

S062  Great Wall Hover H6 0d 2013 - >

Sruba M12x110-8.8 ; Bolt
Podkt. okr. pow. 13, Plain Washer

Pkt. 1

©O
']l Sruba M12x40-8.8; Bolt

Sruba M12x40-8.8 ; Bolt
Podkt. sprez.12,2 ; Spring Washer
Podkt. okr. pow. 13; Plain Washer

Nakretka M12 ; Nut
Podkt. sprez.12,2 ; Spring Washer
Podkt. okr. 13, Plain Washer

R /MIOLA

96-111 Kowiesy, Chojnata 23 A
tel. +48 46 831 73 31



	Sheet1
	Widok rysunku1


